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el fadey @1 989 R (Choose the right option)

7 1 GdhH B :
The inverse of 7 will be :
1) % ) % 3) 7 (4) T ¥ T T8 (None of these)
900 BT TS ® :
The square root of 900 is :
(1) 10 (2) 20 (3) 30 4) 40
512 I T @ :
The cube root of 512 is :
(1) 8 (2)7 (3) 6 4)5

a=13R b=27 A o +b* S A4 BT :

If a=1 and b = 2, then value of «”+b“will be :
(1)2 2) 3 (3)4 4) 5
100+ 0T FH 7 B :

The usual form of 10x0+0 is:

(1) 10 (2) 100 (3)1000 40
15m—5m*> W& 6m* —13m &1 ATHS BT :
Addition of 15m—5m”and 6m> —13m is :

(1) m* +2m 2) m+2m* (3) 2m-m’ 4) m* -2m

3p°q+2pg*H W 2p’q+2pg’ T W UG B

Subtracting 3p°q+2pq° from 2p*q+2pq*, we get :

(1) 3p’q (2)2p’¢ (3 p’q 4) pq
a’ +2ab +b* FT TOFEUE B :

Factorisation of &’ +2ab+b* is :
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(1) (a+b)a+b)  (2) (a=b)a—-b)  (3) (a+b)a—b) (4) (a—b)a+b)

91 y* =13y ®T HTHel BN

The quotient of 91 y’ +13y is :

(1) 7y (2) 7y (3) 7y’ 4) 7y*

2y +3=9% y Pl A B :

The value of yin 2y + 3 =9 will be :

(D1 (2) 2 (3)3 4)4

ARIE B G SH x TG €, 10 Y 915 IFD! IH 15 T 21 TRA | SHBT FHIGOT &1

The present age of Arohi is x years, after ten years the age will be 15 years. Its equation is :
(1) 10x =15 2)x+10=15 B3)x-15=10 4)x-10=15

UG Bl $T Jod 440 To & | Wl H 20% 95 DI G0N DI SR & | I Hidh W I Bl IR R
g ?

The price of a frock is Rs. 440. A discount of 20% is announced on sale. What is the

amount of discount on it ?

(1)22 $o (Rs.22)  (2) 44 To (Rs.44)  (3) 88 To (Rs. 88) (4) 880 To(Rs.880)
Teh <Tof 420 dlciel 4 T H WXl 2| 6 Tel § el areel A9l ?

A tap fill 420 bottles in four hours. How many bottle will fill in six hours ?

(1) 600 (2) 610 (3) 620 (4) 630

AT & Tl I DIV B AN BT T -

The sum of the all interior angles of a rectangle is :

(1) 360" (2) 380" (3) 90° (4) 180"

T ¥ B o et D) e &

Which one of these is not two dimensional (2-D)

(1) ﬁﬂﬁ (Triangle)  (2) GR (Square)  (3) 3T (Rectangle) (4) 31_050 (Cone)

T AT B s Scm © 3R 38 IS 60 &1 A9 10cm 8 | T BT AISTS o :

The length of rectangle is 8cm and each of its diagonals measures 10cm. The breadth of

the rectangle is :
(1) 5cm (2) 6¢cm (3) 7cm (4) 9cm
T FHAI B &AW 88cm> iR SHET faH0T 11em 8 | GET Il 89T -
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59.

60.

The area of a rhombus are 88cm’and one of its diagonals is 11cm. The second diagonals
will be :

(1) 8cm (2) 16cm (3) 24cm (4) 32cm

U do sl BT = r 3R $918 = A E, BT 9% TN &% o -

A cylinder whose radius = r and height = 4 , has curved surface area :

(1) 2zrh (2) 2zr’h (3) zrh 4) zrih

I BRI 20 — 40 BT HW M & :

The upper limit of class interval 20 — 40 is :

(1) 20 (2) 40 (3) 30 (4) 60
fag (7,2) Rerd 2 -

Point (7, 2) lie in the :

(HI- ﬂﬂQﬁ'%T 7 (I-quadrant) ) II- ﬂﬂQﬁ'%T 7 (IT-quadrant)

(3) III - ﬂﬂQﬁ'%T 7 (IIT-quadrant) 4) IV - ﬂﬂQﬁ'%T ¥ (IV-quadrant)
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